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UGR diagram
Glare evaluation according to UGR
p Ceiling 70 [70 |50 [50 [30 [70 [70 [50 [50 |30
o Walls 50 30 50 30 30 50 30 50 30 30
p Floor 20 20 20 20 20 20 20 20 20 20
Room size Viewing direction at right angles Viewing direction parallel
X Y to lamp axis to lamp axis
2H 2H 136 148 139 150 152 |152 164 155 166 1638
3H |144 154 147 157 159 |163 174 166 176 179
4H (146 156 150 159 16.2 |167 177 17.0 180 182
6H [148 157 151 160 163 [169 179 173 182 185
8H |148 157 152 160 163 |17.0 179 174 182 185
12H [148 157 152 160 163 |170 179 174 182 185
4H 2H 141 151 145 154 157 |155 165 158 167 170
3H|151 159 155 163 166 |16.7 176 17.1 179 182
4H (154 162 158 165 169 |17.2 180 176 183 187
6H [157 163 16.1 167 17.1 |176 182 180 186 19.0
8H 157 163 16.1 167 17.1 |17.7 183 181 187 19.1
12H |15.7 163 162 167 171 |177 183 182 187 19.1
8H 4H 156 162 161 166 170 (173 179 177 183 187
6H 159 164 164 168 173 |17.7 182 182 186 19.1
8H|16.0 16,5 165 169 174 |179 183 183 187 192
12H |[16.1 164 166 169 174 |179 183 184 188 193
2H 4H 156 162 161 166 170 (173 178 177 182 187
6H 160 164 164 168 173 (177 181 182 186 19.1
8H |16.1 164 166 169 174 |179 182 183 187 19.2
Variation of the observer position for the luminaire distances S
S=1.0H +0.3 / -04 +0.2 / -0.2
S=15H +0.5 / -1.0 +0.4 / -0.6
S=2.0H +09 / -1.6 +1.0 / -1.2
Standard table BKO3 BK04
Correction summand -8.1 -5.8

Corrected glare indices referring to 518Im Total luminous flux

The UGR values are calculated in acc. with CIE Publ. 117. Spacing-

to-Height-Ratio = 0.25




